
Question A: Big dog, old bull, strong horse (15 pts) 
 

A1. 1 pt per correct answer  (total: 8) 
 

  Dan Swe 

a. en tyr  a bull   √ 

b. en gammal tjur  an old bull  √  

c. tyren  the bull   √ 

d. en gammel tyr  an old bull   √ 

e. den gamle tyr  the old bull   √ 

f. tjuren  the bull  √  

g. den gamla tjuren  the old bull  √  

h. en tjur  a bull  √  

 

A2. 1 pt per correct answer  (total 7) 
 

English Swedish  Danish 

a horse en häst en hest 

a strong horse en stark häst en stærk hest 

the horse hästen hesten 

the strong horse den starke häst den stærka hesten 
 

Question B: Elder Futhark runes            (20 pts) 
 

B1    1 pt per correct answer  (total 9) 
 

a b c d e f g h i 

1 8 4 7 6 9 3 5 11 

 

B2.    1 pt each, accept in either order  (total 2) 
 

(a) ...THOR.......................     (b) ...ODIN...................................... 

 
B3.   3pts each: 1 pt per symbol  (total 9) 

(a) Tyr  ..... ᛏᛃᚱ               (b) Ran ... ᚱᚨᚾ          (c) Sif  ... ᛊᛁᚠ 



Name: ...................................................................... School ................................................ 

 Question C: People and places (20 pts) 
 

1 pt per correct answer, total 17; add 1 for 6 correct, 2 for 12 correct and 3 
for all 17. 
 

1 N  7 H  13 A 

2 I  8 O  14 C 

3 B  9 D  15 F 

4 M  10 G  16 J 

5 E  11 L  17 K 

6 P  12 Q    

 

Question D: Ye olde English problem (20 pts) 
 

D1. Translate the following into modern English.  (6 pts)  1 pt each for 
subject and object (nothing for ‘loved’) ... MUST include ‘both’ or ‘all’ 

 

(a) se cyning eow lufode         The king loved you all ................................  

(b) ge lufodon þæt mægden    You all loved the girl ..................................  

(c) wit inc lufodon                   We both loved you both .............................  

D2. Translate the following from Modern English into Old English. (14 pts) 

1 point for each underlined word, +1 for word order if marked * 
Lose ½ point for any not underlined word that is wrong. But minimum 0 
on each part. 

  

(a) The prince loved the child  se æþeling lufode þæt cild   (3) ..............  

(b) The child loved the prince þæt cild lufode þone æþeling   (3) ...........  

(c) We all loved the child þæt cild we lufodon OR we lufodon þæt cild (2) 

(d) The child loved you both  þæt cild inc lufode  *  (3) ..........................  

(e) The girl loved you all        þæt mægden eow lufode  *   (3) ................  



Name: ...................................................................... School ................................................ 

 

Question E: It’s all Greek to me  (25 pts) 

2 pts for each correct answer (so allow 1 pt if there is one mistake), plus 1 

pt overall if they remembered the / / brackets.  

Βλαχια  (a) /blakhia/ (b) /vlaçia/ (c)   Vlachia 

Φλεγεθων  (d) /phlegethɔːn/ (e) /fleʝeθon/ Phlegethon  

Βηρυτος  (f) /bε:rutos/ (g) /viritos/ Beirut  

(h) Φρυγια (i) /phrugia/ /friʝia/  Phrygia  

Βαβυλωνια  (j) /babulɔːnia/ (k) /vavilonia/ (l) Babylon 

 

Accept ‘β’ for ‘v’ in (b), (g) and (k) 

Accept ‘Babylonia’ for (l) 


